
 

izk- MkW- n-ds- xa/kkjs 

ejkBh foHkkx izeq[k 

vWM- ,e-,u- ns”keq[k egkfo|ky;] jktwj rk vdksys ft- vgenuxj 



                   ifgys l= 

    ejkBh lkfgR; % dFkk vkf.k Hkkf’kd dkS”kY;fodkl 



 ?kVd% 1 ejkBh lkfgR; % dFkk vkf.k Hkkf’kd dkS”kY;fodkl 

 

?kVd        ri”khy                      Js;kad      rkfldk 

1-     dFkk % Lo:i                                1          15 

       dFkk % ?kVd 

       dFkk % izdkj   

 2-    ikB~;iqLrd % ledkyhu ejkBh dFkk              1          15 

         laiknd % MkW- f”kjh’k ykaMxs 

 3-    Hkkf’kd dkS”kY;fodkl                            1         15 

       uSlfxZd % vkdyuklg Jo.k 

       vftZr % laHkk’k.k] okpu]ys[ku] b- 

       izxr % lkjka”kys[ku] lkjxzg.k 



                 nqljs l= 

 ejkBh lkfgR;%,dkafddk vkf.k Hkkf’kd dkS”kY;fodkl 



 nqljs l= % ejkBh lkfgR;%,dkafddk vkf.k Hkkf’kd dkS”kY;fodkl 

 

?kVd                     ri”khy             Js;kad      rkfldk 

1-     ,dkafddk % Lo:i                           1           15 

      ,dkafddk % ?kVd 

      ,dkafddk % lafgrkewY; o iz;kstu 

2-     ikB~;iqLrd % ejkBh ,dkafddk                 1           15 

       foÎy rks vkyk vkyk & iq- y- ns”kikaMs 

       gaMkHkj pkan.;k % nÙkk ikVhy 

3-      Hkk’kk mi;kstukph fofo/k vkfo’dkj :is         1           15 

       laokndkS”kY; ]dYiukfoLrkj]?kks’kokD;s] 

      Hkk’kkarj 

       

           

       

       



iz”uif=dsps Lo:i 

     

fo|kihB l= ijh{kk  2020 &21 

osG 3 rkl 

iz”u dzekad 

?kVd fugk; iz”u ri”khy  xq.k % 70 

iz”u 1 yk 5 iSdh 3 iz”ukaph mŸkjs 50 “kCnkai;Zar fygk- ?kVd 1      15 

iz”u 2 jk 5 iSdh 3iz”ukaph mŸkjs 100 “kCnkai;Zar fygk- ?kVd 2      15 

iz”u 3 jk 4 iSdh 2 iz”ukaph mŸkjs 200 “kCnkai;Zar fygk- ?kVd 2      20 

iz”u 4 Fkk 6 iSdh 4 iz”ukaph mŸkjs 350 “kCnkai;Zar fygk- ?kVd 3      20 

                                        l= ijh{kk ,dw.k xq.k      70 

                                          ?kVd pkp.kh ?kVd 2                                            20                                            

      izdYi @Z x`gikB@ ppkZl=] xVppkZ@ midze lgHkkx@vH;klHksV ?kVd 3      10 

                           varxZr ewY;ekiu ,dw.k xq.k          30 

l= ijh{kk vkf.k varxZr ewY;ekiu ,dw.k xq.k      100 


